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1. A. controlled B. distributed
C. contributed D. contributor
2. A. compete B. complete
C. complex D. complicate
3. A. constitution . B. consumption
C. constriction D. construction
4. A. expose B. express C. export D. impress

5. A. concluded B.included C. exclude D. inclined

I.X—KRE#HFSNE, EGNER,RERE 1 DEOGFHE
HHMRIEEN 4 DEOF, BN FR 2B, BES/NEAB.C.
DANGFHHEE I MNERFFIFNGFHEXRELEY
aF,
6. A. This has no use at all.

B. This has nothing to do with things that will happen in the

future.
C. This will help us avoid a lot of trouble in the future.

D. This will cause a lot of trouble in the future.




7. A. She gives us nothing but a lot of money.
B. She only gives us a lot of money.
C. She simply gives us a lot of practical experience.
D. Besides much money, she also gives us a lot of practical
experience.
8. A. This advertisement has played a very important role in
the success of the new car.
B. The success of the new car has nothing to do with the
success of the new car.
C. Tt remains to be seen whether the success of the new car
results from the advertisement.
D. The success of the new car totally depends on the
advertisement.
9. A. The sentence has a very deep meaning.
B. I wonder whether I could understand this sentence.
C. The sentence doesn’t have a clear meaning at all.
D. I can fully understand the sentence.
10. A. I really wanted to buy this book when you called me.
B. I focused my attention on the book.
C. I really didn’t want to read the book.
D. Actually, I wasn’t really reading the book at all.
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11. A. She prepared for the exam.
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B. She attended a class activity.
C. She had a history lesson.
D. She had a chemistry lesson.
12. A. Hot and dry. B. Hot and wet.
C. Cool and dry. D. Hot and windy.
13. A. There are very few plants.
B. There are too many rocks.
C. There are different colours of rocks.
D. There aren’t any rocks.
14. A. He was badly ill.
B. He had his legs broken.
C. He was hit by a car.

D. He was bleeding badly. L
15. A. In about two.weeks’ time. 3
B. In about three weeks’ time. .

C. In about a year.

D. In about four weeks’ time.
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16. A. Drinking water. B. Specialists.
C. Electricity. D. Food.

17. A. It’s a group of experts formed by doctors and engineers.

B. It is a special kind of program for computers.




18.

19.

20.

C. It is a system for experts to use computers freely.

D. It is a system for doctors and engineers.

A. Process dirty water in a river for drinking.

B. Give advice to a village doctor who finds it difficult to

cure a disease.

"C. Treat and take care of the patients.

D. Give some advice to the patients.

A. You can learn how to use a computer.

B. You can ask the experts.

C. You can go to ask others.

D. You can do it with computers.

A. In some situations, an expert system can take the place
of a human expert.

B. Villages in developed countries often lack many things.

C. These shortages, for example, books, clean water and
electricity in villages are not easy to see.

D. All villages in developing countries have no doctors,

engineers or scientists.
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1. How does the man prefer to go to work?

A. By train. B. By car. C. By bus.

B



2. Whose watch was lost?
A. The man’s. B. Jane’s. C. Jane’s brother’s.
3. What is the woman doing now?
A. Teaching at a school. B. Going into politics.
C. Doing business.
4. Where does the conversation probably take place?

A. In a school. B. In a library. C. In a classroom.
5. Where is Fred now? :
A. At lunch. B. In class. C. At home,
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6. Who was asked to sing with Susan?

A. Paul. B. Hans. C. Frank.
7. What did Mary do in the party?
A. Sang a song. B. Played the piano.

C. Sang with Hans.
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8. What should be first written about in the letter?
A. Work. B. Education.  C. Family.
9. What is suggested in the dialogue?
A. Shortening the beginning. B. Adding to the second part.




C. Changing the end.
'10. What do you think the letter is for?
A. Seeking a job. B. Finding a friend.
C. Passing thinks.
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11. What does the woman consider smoking as?
A. A very bad habit. B. A very dangerous habit.
C. A very healthy habit.

12. How does the man think of those people who smoke?
A. Bad. B. Stupid. C. Dangerous.
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13. Why has the woman decided not to work at the boy’s
camp?
A. She hasn’t worked there before,
B. She knows little about the camp.
C. She wants to be better paid.
14. Who once worked at the Evergreen Hotel?
A. A friend of the man’s. B. The man’s sister.
C. The man himself.
15. How does the man’s brother earn a lot of money?
A. Working at the boy’s camp.
B. Riding around on a machine.
C. Cutting somebody’s grass.
16. What kind of job would the woman like to do?
A. A job in a school. B. A job in the open air.
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C. A job at the hotel.

g 10 B, AR 17 £ 204,
17. What is the main idea of this passage?
A. China’s education.
B. Education problem of the poor children.
C. China’s development.
18. According to the passage, how many school age children
have dropped out of school?
A. Over 2 million. 'B. Over 4 million. C. Over 12 million.
19. What is the biggest problem of our government in helping
the poor children?
A. There are not enough schools. B. Financial problem.
C. The problem of the poor children.
20. What is the writer’s purpose of writing this passage?
A. To establish a better public education system.
B. To make people know the importance of education.
C. To encourage the poor parents to send their children to

school.
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1. Who is Chris Paine?
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A. A computer engineer. B. A book seller.
C. A writer. '

2. What are the two speakers talking about?
A. A football player. B. A football team.
C. A football match.

3. Why did the woman buy a heavy coat for Jimmy?
A. Winter is coming soon.
B. Jimmy’ll go into the mountains.
C. Jimmy has caught a cold.

4. What does the woman often do?
A. Going home. B. Writing home.
C. Phoning his family.

» 5. When is the man checking in?

8 A. Friday. ¥ B. Thursday. C. Tuesday.
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6. How does the man feel about David’s way of sleeping?

A. It’s effective. B. It’s strange. C. It’s the best.
7. How many hours does David sleep a day?

A. Four. B. Six. C. Seven.
8. What does the woman suggest at the end of the talk?

A. People should develop a habit like David’s.
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B. People need longer hours of sleep.

C. People have different sleeping habits.

g T EESEARIE LM,
9. What is the woman going to do?
A. Attend a party. B. Take a holiday.
C. Go on a business trip.
10. When does the woman plan to arrive?
A. Late Friday. B. Midday Saturday.
C. Saturday night.
11. What is the weather like in the town during the day?

A. Cold. B. Wet. C. Warm.
3
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12. Why does the man thank the woman? .

A. She has helped him with his problems.
B. She has invited him for coffee.
C. She has agreed to see him on Monday.
13. When does the conversation take place?
A. Before class. B. After class. C. During class.

E O BTiE,IAE 14 £ 16 M,

14. What will the man do next morning?
A. Meet Mr Cooper. B. Visit the national lab.
C. Meet Bill Lyons.

15. How will the man spend his Saturday?

A. He will do some paperwo:;k.
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B. He will take some rest.
C. He will meet some visitors.
16. What do we know about the woman?
A. She’s the man’s wife.
B. She’s a business manager.

C. She’s a company secretary.

Y% 10 EabE, AP 17 £ 20,
17. What was the purpose of Mrs Whinfield’s visits to Kew
Gardens?
A. To learn more about plants.
B. To write an article on gardens.
C. To meet the writers she read.
18. Where did Mrs Whinfield live before she moved to her
present home? :
A. Dorset. B. Somerset. C. West London.
19. Where did Mrs Whinfield get most of her plants?
A. She grew them from seeds.
B. She got them from her friends.
C. She bought them from a market.
20. What is the probable relationship between the two
speakers?
A. Tourist and gardener.
B. College professor and biology student.

C. Newspaper reporter and garden owner.
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1. A. unit B. unite C. union
2. A. clasp B. clash C. clarify"
3. A. royal B. loyal C. row

4. A. tow B. towel C. cow

5. A. tennis B. dense C. tense
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D. unity
D. classify
D. round
D. tower
D. tender

6. A. We know nothing about his South Sea adventure.

B. After hearing his stories, we feel very sad.

C. After hearing his stories, we feel disappointed.

D. All of us feel very excited about his stories.

7. A. You've failed to include the most important word in the

sentence.

B. You needn’t have written this word in this

sentence.

C. It is not necessary to write this word in this sentence.
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D. This word has something to do with the sentence.
8. A. The car was started.
B. The car was destroyed by others.
C. The car stopped working.
D. There was nothing wrong with the car.
9. A. There are only 14 girls in the class.
B. The class is made up of 14 girls and 16 boys.
C. The class will have another 14 girls and 16 boys.
D. There are only 16 boys in the class.
10. A. John wasn’t the owner of the house.
B. It is still unknown who was the owner of the house.
C. At present, John was the owner of the house.
D. At the very beginning, John was the owner of the

house.
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~11. A. It is the name of a book.

B. It is the name of a magazine.
C. It is the name of a newspaper.
D. It is the name of a building.
12. A. Because he was caught stealing.
B. Because he reported on prisons.
C. Because he wrote adventure reports.

D. Because he had nothing to eat.




13. A. People got excited and angry with prisons.
B. He learnt a good lesson.
C. Prisoners are now better treated.
D. He got a lot of money.
14. A. To find a nicer place to live in.
B. To live together with her parents.
C. To have a better job in a new place.
D. To live together with his friend.
15. A. In a big city. B. In a small village.

C. In a nearby country. D. In a small town.
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16. A. His house was surrounded by the flood.

B. There was water all over the floor.

C. His car was upside down in the street.

D. There are too many people in the street.
17. A. About 16 inches. B. About 60 inches.

C. About 17 inches. D. About 20 inches.
18. A. How people fought against a natural disaster.

B. A big flood struck Peter’s hometown.

C. Many people died in a serious flood.

D. Many people died in the flood.
19. A. 85. B. 58. C. 46. D. 64.
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